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asym_bcm_an_us (ppb) 1D pull distribution
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asym_bcm_an_us RMS (ppm)
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asym_bcm_an_ds (ppb) 1D pull distribution
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asym_bcm_an_ds RMS (ppm)
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asym_bcm_an_ds3 (ppb) 1D pull distribution
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asym_bcm_an_ds3 RMS (ppm)
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asym_bcm_dg_us (ppb)
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asym_bcm_dg_us RMS (ppm)
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1D pull distribution

0.005447 +0.03443

Mean

0.2458 +0.02434

Std Dev

Underflow

Overflow

0.8872/1

X2 / ndf

35.03 +6.98

Constant

0.02207 + 0.04871

Mean

0.3054 +0.0414

Sigma

3.084 /50

X2 / ndf

1

.32 + 230.

=77

pO

0

asym_bcm_dg_ds (ppb)

LA4T44
£v6cr
444
L'v6cy
0'v62h
S'€6CY
'€621
€62
[A44
€6y
0'€62
v'c6ey
£'¢62h
X444
| X4T44
0'¢c6er
V'1621
1621
c'16¢v
' 16cy
0’1621
7'0621
€062
20621
L°06cy
0°0621
'68CY
6821
2'68¢1
L'68¢y
0'68¢1
7'88¢1
£'88¢1
2'88¢t
0881
08821
LA:T44
c'.8¢V
[At44
A4
0,821
'98¢1
98¢V
298¢
L'98cy
098¢t
7°S8¢1
€682
¢'S8¢y
[L'G8cy
0°G8¢1

3000 [—

—-3000 —




asym_bcm_dg_ds RMS (ppm)
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1D pull distribution
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1D pull distribution
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1D pull distribution
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diff_bpm4eY RMS (um)
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diff_bpm11X RMS (um)
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1D pull distribution

diff_bpm12X (nm)
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diff_bpm12X RMS (um)
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asym_usl (ppb)
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asym_usl RMS (ppm)
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1D pull distribution
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